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NEW QUESTION 1

An engineer is working for a large cable TV provider that requires multiple sources streaming video on different channels using multicast with no rendezvous point.

Which multicast protocol meets these requirements?

A. PIM-SM

B. PIM-SSM

C. any-source multicast
D. BIDIR-PIM

Answer: D

NEW QUESTION 2
When vEdge router redundancy is designed, which FHRP is supported?

A. HSRP
B. OMP

C. GLBP
D. VRRP

Answer: D

NEW QUESTION 3

What is an advantage of designing an out-of-band network management solution?

A. In the event of a production network outage, network devices can still be managed.

B. There is no separation between the production network and the management network.
C. In the event of a production network outage, it can be used as a backup network path.
D. Itis less expensive than an in-band management solution

Answer: A

NEW QUESTION 4

Which OSPF area blocks LSA Type 3, 4 and 5, but allows a default summary route?

A. normal

B. stub

C. NSSA

D. totally stubby

Answer: D

NEW QUESTION 5

An engineer is designing a QoS policy that queues excess packets for later transmission. Which mechanism must be included in the design?

A. shaping
B. WRED
C. policing
D. RED

Answer: A

NEW QUESTION 6
Which design consideration must be made when dual vEdge routers are deployed at a branch site?

A. Use BGP AS-path prepending to influence egress traffic and use MED to influence ingress traffic from the branch.

B. HSRP priorities must match the OMP routing policy to prefer one vEdge over the other.
C. Traffic must be symmetrical as it egresses the vEdges and returns from remote sites for DPI to function properly.
D. Configure BFD between vEdge routers to detect sub-second link failures.

Answer: A

NEW QUESTION 7

What is one function of the vSmart controller in an SD-WAN deployment?

A. orchestrates vEdge and cEdge connectivity

B. responsible for the centralized control plane of the SD-WAN network

C. provides centralized network management and a GUI to monitor and operate the SD-WAN overlay
D. provides a data-plane at branch offices to pass traffic through the SD-WAN network

Answer: B

NEW QUESTION 8
Which QoS feature responds to network congestion by dropping lower priority packets?
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A. CBWFQ

B. tail drop

C. WRED

D. strict priority

Answer: C

NEW QUESTION 9
An engineer must propose a QoS architecture model that allows an application to inform the network of its traffic profile and to request a particular type of service

to support its bandwidth and delay requirements. The application requires consistent and dedicated bandwidth end to end. Which QoS architecture model meets
these requirements?

A. DiffServ
B.LLQ

C. WRED

D. IntServ

Answer: D

NEW QUESTION 10
Drag and drop the properties from the left onto the protocols they describe on the right.

NETCONF
HTTPS-based
SSH-based
built to support candidate configuration
RESTCONF
lacks support for two-phase commit
transactions
A. Mastered
B. Not Mastered
Answer: A
Explanation:
""""""""" ] [ NETCONF
HTTPS-based
_________________ SSH-based
|
, SSH-based
e o e e e built to support candidate configuration 1|
built to support candidate configuration
—————— e RESTCONF
. lacks support for two-phase commit |
transactions HTTPS-based
lacks support for two-phase commit |
transactions '

NEW QUESTION 10
Which feature must be incorporated into the campus LAN design to enable Wake on LAN?

A. dynamic ARP Inspection Snooping on layer 2 devices

B. directed broadcasts on layer 3 devices
C. proxy ARP on layer 3 devices
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D. DHCP Snooping on layer 2 devices

Answer: B

NEW QUESTION 12
In an SD-WAN architecture, which methods are used to bootstrap a vEdge router?

A. DHCP options or manual configuration
B. vManage or DNS records

C. ZTP or manual configuration

D. DNS records or DHCP options

Answer: C

NEW QUESTION 16
Which two steps can be taken to improve convergence in an OSPF network? (Choose two.)

A. Use Bidirectional Forwarding Detection

B. Merge all the areas into one backbone area

C. Tune OSPF parameters

D. Make all non-backbone areas stub areas

E. Span the same IP network across multiple areas.

Answer: CD

NEW QUESTION 17
An engineer must design a VPN solution for a company that has multiple branches connecting to a main office. What are two advantages of using DMVPN instead
of IPsec tunnels to accomplish this task? (Choose two.)

A. support for AES 256-bit encryption
B. greater scalability

C. support for anycast gateway

D. lower traffic overhead

E. dynamic spoke-to-spoke tunnels

Answer: BE

NEW QUESTION 21
When IPsec VPNs are designed, what is a unique requirement if support for IP Multicast is required?

A. encapsulation of traffic with GRE or VTI
B. IPsec forwarding using transport mode
C. additional bandwidth for headend

D. IPsec forwarding using tunnel mode

Answer: A

NEW QUESTION 23
An infrastructure team is concerned about the shared memory utilization of a device, and for this reason, they need to monitor the device state. Which solution
limits impact on the device and provides the required data?

A. IPFIX

B. static telemetry

C. on-change subscription
D. periodic subscription

Answer: A

NEW QUESTION 26
Which design consideration should be observed when EIGRP is configured on Data Center switches?

A. Perform manual summarization on all Layer 3 interfaces to minimize the size of the routing table.
B. Prevent unnecessary EIGRP neighborships from forming across switch virtual interfaces.

C. Lower EIGRP hello and hold timers to their minimum settings to ensure rapid route reconvergence.
D. Configure multiple EIGRP autonomous systems to segment Data Center services and applications.

Answer: A

NEW QUESTION 30

A customer is discussing QoS requirements with a network consultant. The customer has specified that endto- end path verification is a requirement. Which QoS
solution meets this requirement?

A. IntServ model with RSVP to support the traffic flows

B. DiffServ model with PHB to support the traffic flows
C. marking traffic at the access layer with DSCP to support the traffic flows
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D. marking traffic at the access layer with CoS to support the traffic flows

Answer: A

NEW QUESTION 31
What are two benefits of designing an SD-WAN network fabric with direct Internet access implemented at every site? (Choose two.)

A. It decreases latency to applications hosted by public cloud service provider.

B. It decreases latency on Internet circuits.

C. It increases the speed of delivery of site deployments through zero-touch provisioning.
D. It increases the total available bandwidth on Internet circuits.

E. It alleviates network traffic on MPLS circuits.

Answer: AE

NEW QUESTION 36
How do endpoints inside an SD-Access network reach resources outside the fabric?

A. a VRF fusion router is used to map resources in one VN to another VN

B. Fabric borders use VRFs to map VNs to VRFs

C. SD-Access transit links are used to transport encapsulated traffic from one fabric to another

D. A fabric edge is used to de-encapsulate VXLAN traffic to normal IP traffic then transported over the outside network

Answer: D

NEW QUESTION 40
An engineer is working with NETCONF and Cisco NX-OS based devices. The engineer needs a YANG model that supports a specific feature relevant only to
Cisco NX-OS. Which model must the engineer choose?

A. Native

B. IEEE

C. OpenConfig
D. IETF

Answer: D

NEW QUESTION 44
A network solution is being designed for a company that connects to multiple Internet service providers. Which Cisco proprietary BGP path attribute will influence
outbound traffic flow?

A. Local Preference
B. MED

C. Weight

D. AS Path

E. Community

Answer: C

NEW QUESTION 45
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